BA-7040-00 Page: 1

EA ﬁa Passenger Floorboard Brackets

‘:‘;‘,‘Z'Em Accessories Yamaha, V-Star 950, 1100 & 1300
s&_ffiz?mrm:& ——

—

Werecommend the use of Blue L ocktite® on all floorboard mounting

ReWS on: 26 = 1207/2009 hardware and that all mounting hardwar e be retightened after 100 miles.
Install Time: 20 minutes

INCLUDED IN THEKIT:

Left & Right Black Mounting Brackets (4) M8-1.25 x 45mm Hex Head Bolt Chrome
(2) 3/8-16 x 3/4" SS Flathead Socket Cap (4) M8-1.25 x 55mm hex Head Bolt Chrome
1/4-20 x 1/2" Flathead Socket Cap (4) M8 Flat Washers Chrome

5/32" Long Hex/Allen Wrench

TOOLSREQUIRED:
Allen Wrenches Blue L ocktite®
10 & 12 mm Wrenches

INSTRUCTIONS:

1. Remove the Baron Sport Boardsfrom their packaging, you will find they come with two chrome Pivot
brackets attached. The Pivots are what allowsthe floorboard to attach to the mounting brackets (Sold
Separately) and how the boardstilting can be adjusted.

2. Attach the Pivot to the Floor board Mounting Bracket using the supplied har dwar e that comeswith the
floorboards. Snug thelarger boltsup but do not tighten. Take the small 1/4-20x 1/2" Flathead Allen screw and
thread them through the small hole/sin the Pivots and into the mounting bracket.

NOTE: You must first select your preferred hole. (The upper hole will place the floorboardsin aflat position
and the lower hole/s provides an angled mounting position for added comfort and contral).

SUGGESTION: The second holeisthe most preferred position. Once selected you may now tighten all Flathead
har dware.

3. Remove stock pegs/floorboard mountsfrom your motorcycle.

4. The mounting brackets are left and right side specific. I nstall Bar on mounting bracketsin same holes vacated
when you removed the stock mounts using the supplied hardware.

NOTE: See specificinstructionsthat may beincluded with the mounting brackets for specific instructions.
REMEMBER: Use Blue L ocktite®

CAUTION:Werecommend you re-tighten all mounting bolts after 100 miles.

Our ingtall guides provide a basic outline on the proper installation of our products. Further tuning and/or
fitment may be required. Barons bears no responsibility on installation costs associated with this product.
© 2025 Barons Custom Accessories

5221 Oceanus Drive * Huntington Beach, CA 92649 < (657)200-3840 - Ph. * (714)901-0520 - Fax * www.baronscustom.com ¢ tech@baronscustom.com



